Question Bank
ECONOMICS

UNIT-1 (INTRODUCTION)
HT—HIVT (Assertion-Reason) (01 Mark)

Answer Options 3¥R fa&eq( (for all questions)
(A) Both A and R are true, and R is the correct explanation of A.

A 3R G TET 8, 3R, AT GE STTEAT B |
(B) Both A and R are true, but R is not the correct explanation of A.
A 3R GIAT TET €, afehet R, A T 6T carear AT 8|
(C) Ais true, but R is false.
A TETE, Afehel R AT 8|
(D) A is false, but R is true.
ATTAd &, oifheT R @RI 81

QUESTIONS-
1- Assertion (A): Microeconomics deals with individual economic units like

households and firms.
Reason (R): Microeconomics studies the behavior of individual markets, including the pricing
of goods and services.

A: e 3remET afadera s sesal S aRar 3R Fulaal & v 7 g1
R: IS¢ ARATET eITFI STSTRT T I el g, [oTas aeqait 3 Jansit &
$radar &1 FuRer anfae g

2. Assertion (A): Macroeconomics focuses on the economy as a whole.
Reason (R): Macroeconomics deals with national income, inflation, unemployment, and other
aggregate variables.

A: GATSE AT THIY JIITEAT W &ITeT higd dl gl
R: HATSE 3emeT TG 3, AR, ST 3R 30§79 @i @ Feied
gier gl

3. Assertion (A): Positive economics studies the facts and causes of economic

behavior.
Reason (R): Positive economics is based on objective analysis of economic issues without any
value judgments.

A: GHRIcHAS JTAET 3 TggR & d2at 3R RO &7 37eTTT FHT B
R: HhRIcHS I 9T fonell Foarehet & 31T Heel o1 a&dfise fagervor
T &
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4. Assertion (A): Normative economics is prescriptive in nature.
Reason (R): It involves subjective judgments about what ought to be, such as policies and
recommendations.

A: e AT GSAAcHS BT Bl
R: 38 I8 ARG == & O =afFaea Tar gia § & =1 g oo, s
siiferar 3 fAwrRer

5. Assertion (A): An economy is a system of production, distribution, and

consumption of goods and services.
Reason (R): The main objective of an economy is to allocate scarce resources efficiently.

A: Teh HIegaeyT a¥q3it 3R Jansit 1 3cdree, faeror 3R 3usier &1 v 7 Bl
R: U IcTaeYT 1 LI 36T WAT FATEEAT T GHIEN &I @ 3Mdee] Hiel gl

6. Assertion (A): The central problem of an economy is to determine what, how,

and for whom to produce.
Reason (R): These questions arise due to the scarcity of resources and unlimited human wants.

A: Tk HIIIEAT A FET TATAT I ¢ & F41, FO 3R Fas v 3cued e

gl
R: Ig 9T FATHAT FT HHT 3R 31ad AT T3 & HROT 3c9e aid gl
7. Assertion (A): The Production Possibility Frontier (PPF) shows the maximum

output combinations of two goods that can be produced with given resources.
Reason (R): The PPF assumes that all resources are fully utilized and technology is fixed.

A: 3cUTee HHTEAT HAT (PPF) & aEI3HT & if¥ehad 3culest HAl=1 &1 @ g,
Seg foU a1 garest & Iy 3cde fohar ST @ehar

R: PPF g AT § & @l G gt g & 39T # o0 a7¢ § 3R siezifaenr
feav g

8. Assertion (A): Opportunity cost is the cost of forgoing the next best alternative

when a decision is made.
Reason (R): It represents the value of the next best alternative that must be sacrificed.

A: 3GET AT 98 oRTd ¢ of Ao Jad 989 39T gafad Ased & amee $ir

gicr &1
R: I 30Tl Halar eeq & Ao &1 gufar § fower cmr fFar s anfgul

9. Assertion (A): A simple example of opportunity cost is choosing between buying

a laptop and saving money for future use.
Reason (R): The opportunity cost of buying the laptop is the savings that could have been used for
future purposes.

A: 3798 oIeTd T Teh IATYRUT 3SEI0T oueid Wiea 31X #fosy & fov 39 s==
F I IIT T B
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R: 9T @i $I a8 AETd 98 §9d g o AaST H 39T & v sEdaATe
foram ST Fehar T

10. Assertion (A): When resources are fully utilized, the economy is said to be

operating on the production possibility frontier.
Reason (R): The economy is efficient when it produces the maximum output without wasting
resources.

A: 519 FETHH GO A& ¥ 3YANT H T S0 &, dF el Siar & o rdegaean
3caTe FHTGAT AT I FF FT BT &l

R: TcTGEAT dd YHTAT Bl ¢ od Tg [T FATHAT &l oi5e fhw 31f¥ede 3curea
3cTeol T § |

11. Assertion (A): When there is a shift in the PPF, it indicates that there has been

a change in the resources or technology.
Reason (R): A rightward shift in the PPF indicates an increase in resources or improvement in
technology.

A: 319 PPF H U SGolld @Il &, dl SHHI A & [ Tare«l a1 ST & 315
crﬁa?‘l?rgmifl
R: PPF # 21§ 3R Scelld A=l & gefer ar diegifachr & gur &l gefar g

12. Assertion (A): An economy cannot produce beyond its PPF without external
help.

Reason (R): The PPF represents the maximum output of an economy with its available resources
and technology.

A: T HYSGEAT YA PPF & §TgX 3cUIGe slal X Hhdl g, S8 deh 38 aedl
T o TR

R: PPF U 3cIqedT & HFIH 3cUiged i SATdr g, S 3yarey garar 3R
Sl & @y gHa gl

13. Assertion (A): Economic problems arise because resources are scarce.
Reason (R): Scarcity forces individuals and societies to make choices about how to allocate limited
resources.

A: TS FATAT 39 FROT 3ce<T aldl & o AT HIAd 8 gl
R: ST & HRUT FiFaal IR FATS @ AT GAAT & 3deT el & TN A
A0 oo & T HAstex g 95T Bl

14. Assertion (A): A country producing only consumer goods may face a shortage

of capital goods in the future.
Reason (R): A higher focus on consumer goods may limit the production of capital goods required
for future production.
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A: TS A S el SUSercl a3 1 Sculeal ol &, fasy & el aegai &
HHT T FTHAT F ThdT ¢l

R: 3YHIFAT T3 TR AAF €A1 hfed A § HiasT & Icdied & fav 3naegs
Yol aEg3i T Scurest AT g Fharr &

15. Assertion (A): A country may have a trade-off between producing more capital

goods and more consumer goods.
Reason (R): The opportunity cost of producing more capital goods is less production of consumer
goods and vice versa.

A: U 3 &Y AW Gliard a&qU 3N 33Ul U 3cdieel el & T Teh
Holel  (3NTH-¢3)FATT IS Hebel &

R: 3118 GofloTd a&3 & 3cdleat 1 Iaa Rl e YA &3 HT 3clee g AR
sa faulia o IEr AL g B

16. Assertion (A): If an economy is on the PPF, it is utilizing all its resources

efficiently.
Reason (R): Efficiency is achieved when the economy is producing the maximum output with
available resources.

A: If¢ T 31Tegaedr PPF WX g, A ST A ¢ Toh IJg el THT TATIAT &l
AT & IIINT T T &

R: FRIeTcT a9 9Ted BT & I9 31IcyaeyT 3udey AT & 1Y Afhdd 3curee
3cTeeT AT B

17. Assertion (A): A shift in the PPF can occur due to changes in factors like

technology or the labor force.
Reason (R): An increase in technology or labor can expand the economy's production capacity.

A: PPF #H Scerd WieIRFhr a1 sffe gof S &Rl # dRadd & FROT g1 Fohd

gl
R: ST a1 AfAF dof 7 gefd 3Teqae AT i 3cUIesT &THAT AT 96T Fehell o

18. Assertion (A): Scarcity forces an economy to prioritize the production of

certain goods over others.
Reason (R): An economy must decide how to best allocate limited resources to meet unlimited
wants.

A: ST Th ITTIETT H S dEIN & Scdleet Bl GEI T AATARAT & &
fav faaer s B

R: Ush JITaedT & I8 Ao o= giar § 5 faa garat o1 gafaw o @
3MdesT F8 fhar ST aife 3ad gTomsit # g Rar s oas|
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19. Assertion (A): Opportunity cost applies even in situations where no money is

involved.
Reason (R): Opportunity cost refers to the value of the best alternative forgone, regardless of
monetary transactions.

A: 3TER TG d9 # A @1l & I IS Hqar nfAe a8 @l B
R: 3GEX AT Halad f@weq & canl a0 Hod & Faifid Fdr §, ar Alfge ofa-
SoT &1 T o &

20. Assertion (A): In a mixed economy, both the government and private sector

participate in solving central economic problems.
Reason (R): Mixed economies combine elements of both planned and market economies to address
economic issues.

A: TF AT 3rdcuarar & R 3R FEh &7 |t FE e gEeant & g
T H AT o g

R: AT 3rdcgaeat Aaifaa 3R SR srfegaransit gt & deal @ Ssdr §
a3 AT &1 gAY RAT ST I

ggldmcyld 797 (Multiple-choice Questions) (01 Mark)

1.

Microeconomics deals with:

cqfSe rdeney fFad wafta @2

(A) Economy as a whole / QTCl;U‘f 3reaEar

(B) Individual markets and firms / SfFdeTd IR 3R Ha
(C) Fiscal policies / TsTep¥IT AIfaar

(D) National income / I7SeIT 3T

2.

Which of the following is a macroeconomic concern?

farafaf@a & @ Fla-ar & aafee srderehT Fqegr 2

(A) Pricing strategy of an automobile company / Teh JTSHES S el T Hel foreRoT
oA

(B) National unemployment rate / IS SRISTITRT &

(C) Consumer preference for organic food / Sifae $Ieler & forw 3usiierar &1 grafAsdar
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(D) Cost reduction techniques of a manufacturing firm / Teh AT B T ETT "ere $r

REGICY
3.

"The government should increase spending on education." This statement is an example of:
"EHR FT AT W TS =T AIRTI" I§ FREET 3STEI0r 87

(A) Positive economics / HhRIcHS TAATET

(B) Normative economics / 3TTeRTh AT

(C) Microeconomics / egT8¢ 37 FermreT

(D) Production Possibility Curve / 3cUTgel THTGAT dsh

4.

Which statement represents positive economics?

frafaf@a 7 @ sla-u1 Fya gFRIeAs IrdeareT et 82

(A) Government should provide free healthcare / TP T HFA Y qaT UGl el
aree|

(B) Increase in tax rate reduces disposable income / T &I H El?{ﬁ T I AT 3T S
giclr

(C) Minimum wage should be raised for economic equality / 31TT¥e FATIAT & forw eoIdH
HsTgl SgTg ST AR

(D) The government must provide subsidies on food grains / IIPR I gicdloel U afeqsr

el AT

5.

Which of the following is a central problem of an economy?
farafaf@a & @ sla-w v srdegarar i Fhy gaea 2
(A) What to produce? / FIT 3cdTGe F?

(B) How to produce? / 8 3cATGel Hi?

(C) For whom to produce? / fh&sh foIT 3cdrgeT &2

(D) All of the above / 3IRIFT T

6.

A developing country like India faces which fundamental economic problem?

AR S Rwraedter e Ft Fla-wt Feea s TAET FT AHAT FIAT I5AT 82
(A) Unlimited resources / 38T T
(B) Optimal resource allocation / HHTHAT &7 SSCdH 3Tdcd

6|Page



(C) Abundant skilled labor / TgX HIET H FHerel &S
(D) No economic problems / 15 e FATAT Ag!

7.

The question "How to produce?' depends on:

"H¥ Ieued H?" TE T g W AR war 2
(A) Available resources / 3UcIet] FETAT G

(B) Government policies / TN Aifaat @

(C) Production techniques / 3c9TGel dehail A W

(D) All of the above / 3T T

8.
What does a Production Possibility Curve (PPC) represent?

3IUIEA WHGAT g% (PPC) fpd gaifar &2

(A) Unlimited production of goods / ER-_SB-]T FT1 ITATAT 3carg

(B) Maximum possible combinations of two goods / G ER-_SB-]T & fhaa garfad ddisteT
(C) Increasing cost of production only / hdel 3cUlgeT oTITd H E(l-'c"ﬁ

(D) Market demand for a product / fh&Y 3cdrg Fr ST AT

9.

If the Production Possibility Curve shifts outward, it indicates:

IfE IcUTeT FHTGAT 9% deT 1 AR TGRS 8T ¢, aF Ig g §:
(A) Increase in economic resources / 3 FaTer & Eﬁﬁ

(B) Technological advancement / dehailehl YaTTel

(C) Growth in productivity / 3cqTeehcl H Jefer

(D) All of the above / 3T T

10.
Which of the following best illustrates opportunity cost?

frfaf@a & § FI9-97 39U aNTg FT Fafad w2t 87

(A) A farmer choosing to grow wheat instead of rice / Teh fohalTeT T dTael &I AT g 3]
Yol

S

(B) A company investing in technology over advertising / Teh &Tail T [0l & ST

dehellehr H I el
(C) A student quitting a part-time job to study more / Ueh I bl Jes & foIT 3o
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CIC T EC)
(D) All of the above / 3IRIFT T

11.

"Opportunity cost'" measures:

"HTEY ART" RFEET AT FIAr §2

(A) Cost of the next best alternative forgone / cdTT 3T 37dTel qafae faeed &1 olerd
(B) Total production cost / Dol 3cHIce] efldld

(C) Consumer equilibrium / 3GHIEFAT HT—IQET-T

(D) The average cost of production / 3c9TGeT <hr 3T @rera

12.

A country decides to invest more in education rather than defense. This is an example of:

U o frem & e fr goen & qfF Ay Fa F1 Aoy dar g1 aw Frwwr semwor
82

(A) Consumer equilibrium / 3T FIT:IDFF-T

(B) Opportunity cost / 3IddY TITd

(C) Demand and supply / AT 3R 3'1Tq¢ﬁ

(D) Law of diminishing returns / &€dl 3cUTgehdT T [TeT

13.
If all resources are fully utilized in an economy, which point on the PPC is impossible to
achieve?

afg frelt srdegavar # woft g qft avE @ 3R few o @, @ 3careA
"G a%F I FieT-a1 &g e 32

(A) A point beyond the PPC / PPC & §TgI ol Elflé' ar ﬁg

(B) A point inside the PPC / PPC & #IcR & #1g &t foig

(C) Any point on the PPC / PPC WX 15 #Y ﬁg

(D) None of the above / 3T & Elflé Tl

14.
Which of the following can shift the Production Possibility Curve (PPC) outward?

ffaf@a & @ Fi9-a1 3T FHET g% (PPC) #T @Y Y 3N TAEGRT F
qhdl 87
(A) Natural disasters / ‘;I'Iiffﬁ? 3TIer
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(B) Technological advancements / dehailepl JaTfcl
(C) Reduction in labor force / AR I TEIAT H HaAT
(D) Decline in capital investment / tlc\fo foaer & FRmac

15.

How do individual decisions impact the economy?

cafFaera vty srdeaavar & F@ vanfaa #a

(A) Through microeconomics / €IS IMWMET & ATIH I
(B) Through macroeconomics / HHSE TAATET & ATEIH &

(C) Through government policies / GIIRT ATl & HAEIH &
(D) Only in socialist economies / hael FHTSAIGT 3T Jeaaearst #
16.

A new government policy encourages industrial investment. How will this affect the PPC?
T A% WER A teafs g & NeafRa I &1 s@HT IcaeT FHEAT IF
(PPC) 9 9T Y3Td I3MM?

(A) PPC will shift outward / PPC STgX &7 3R TAIARA 8em

(B) PPC will shift inward / PPC 376X I 3R TATATTR Il

(C) PPC will remain unchanged / PPC 3aRafdd e

(D) PPC will become a straight line / PPC Teh TTEfY IW@T & ST

17.
If a country chooses to produce more capital goods than consumer goods, what will be the
long-term effect?

afE FE Jar sUITFAT TEIT A JoAA A HWF GG TEGE 3o FAT 8, Al
rdwIfas wHTT &A1 Fem?

(A) Slower economic growth / 3 qaﬁ' $r e T arfa

(B) Faster economic growth in the future / dfasg H aer 3nfde El?\'ﬁ'

(C) Decline in industrial production/ﬁﬂ?ﬂ'ﬁla? 3cdresl A fRmac

(D) No impact on economic development / 3H fGha W IS IHT AT

18.
Which of the following real-life situations best explains the concept of ""For whom to
produce"?

fArfaf@a & ¥ sla-i aafas Shaa f Ry "Fas @ scEa s &
HAUROT Y FAaA T F g &2
(A) A luxury car company targeting high-income consumers / Ueh 9ol &R &Y=l HI 3Td-
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3T 3ITAIFATIT B SATaTT AT

(B) A factory choosing between robots and human labor / Teh T CaRT Ueie iR AT 5T
& dIT T AT

(C) A farmer deciding whether to grow wheat or rice / T ThaTeT T ?ﬂE T Aol 39Tt ol
AT o

(D) A company shifting production from textiles to electronics / Teh &hUsil T TEF 3_(.‘\}’3I>IW a
ST IFH 3cdlee] H FATATARA glaT

19.
A bakery has limited flour and must choose between making bread and cakes. This
represents:

TH dF0 F g AT AT A e § a9 3/ 93 3R FE g F T 99T FI60 B
Ig frueET 3qEIT B2

(A) Economic problem of scarcity / T bl FHaAT Hr e gFEEaT

(B) Macroeconomic issue / HSEC R Haal

(C) No economic issue / Eﬁl’é’ 3T AT IEr

(D) Normative economics / e TARMET

20.
A new technology reduces the cost of producing electric vehicles. How will this affect the
economy?

T 7§ dFedld Sdfaced dgal & 3cdiged #T aRld $T HF HT adl &1 SHHT Jfegaedr
W FIT IHTG Y32

(A) Increased production and outward shift of PPC / 3c9TéeT & E(l_'c"ff%l' 3R PPC & T8T #T 3R
EEEARE g

(B) Decreased consumer demand / 3THIFAT HET H FHaAT

(C) No impact on economic growth / EIBED a‘_?{@' R HIg T el

(D) Reduction in employment opportunities / TSR & G H HAT

f7fRga Sai¥lg g9 (One word/definite answer questions (01 Mark)

1.  Which branch of economics deals with the behavior of individual economic units like
consumers and firms?

10| Page



10.

11.

ardfemeT #r FieT d@ em@Er IuRiEanit HR IgIAT AW AfFana hF FFEEA F
gagR ¥ Hefaa &2

Which branch of economics studies aggregate economic phenomena like national income and
inflation?

yrdemeT A Fla W arEr w7 3w AR Fgaedfa @ gaAfera wfdE geasit
T HEYT FIAT &7

If the government increases taxation to reduce inflation, under which branch of economics does
this policy fall?

I TR Faehfa # 77 F@ F Ao &0 § gefr Fd@t 8 o 77 A srderes
N fFE o F saeta e

The study of price determination in a perfectly competitive market belongs to which branch of
economics?

got wfaeqe’ arer aeR & Fea uRor &1 sreawe s A fhe e @
T b

Which type of economics focuses on analyzing ‘what is’ rather than ‘what ought to be’?
AT A FlT W ar@r FAT § FT AAYr FIAY 7, T F T4 g afge?

Which type of economics involves value judgments and prescribes policies for achieving
economic goals?

s it Fla W arEr Aew okt F anfde wet § 3R e @wat @ g
T F fow Hfaat i RAewRer w2

A statement like ‘Higher income leads to higher demand for normal goods’ belongs to which
type of economics?

HOF 3T AT TEIIHT A HAF AT F e G ST FUT IrdareT A
forer amam ¥ weEfta &

A statement like ‘The government should provide free education to all’ belongs to which type
of economics?

THR A Tt A e e ger= F3 AR ST Fyer rdereT A o
AT § FaOd &

If a company decides to automate production to reduce costs, which fundamental economic
problem is it addressing?

I FE FY AN FH FA & AT 3cUET FT FFAIfd Flat FT @oiT ot &
gg sl Wt AR e gaear &1 gaEue FT P

In a centrally planned economy, who makes the decisions regarding resource allocation?
F Falpd Ao srdeaardr # waEt F Idea @ wafta vk Fla aar

What term describes the economic problem of deciding what goods and services should be
produced?

FleT AT Ueg 37 TEIIAT I Fanad F Fvewor Ay snfew worewm # qufar 8, oF
Jcurfea fovam s aifew
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12.

13.

14.

15.

16.

17.

18.

19.

20.

What term describes the economic problem related to selecting the technique of production?
T AT Aeg 3cUIGA H dFelld & I9T F Fafd 3fdF AT F AT §?

What term describes the economic problem of deciding the distribution of goods and services
among people?

FleT AT ereg At F N argHt AR Faed F Faror & fAuor Fr e gEEn
F geiar &

Which curve shows all possible combinations of two goods that can be produced with given
resources and technology?

&l @1 9% Ru v FamEt ik dle@ifad & e seafea i a1 @ arelt &
a3t & gl wanfaa WSl #r gertar

What will be the opportunity cost of producing more capital goods instead of consumer
goods?

3USIFAT a3 F T W AF GAlrd a3 F eulest AT HTW AR F41
g

If a country moves from inside to on the production possibility frontier, what economic
condition is it improving?

IfE FE 2T 3cUTeT THTAAT 9% & AT ¥ 37 W TUEGRT a1 &, aF a8 fFa
e Fufa F gur w3 w1 2

If an economy operates at a point inside the Production Possibility Frontier, what does it
indicate about resource utilization?

iy F§ T IeUe wHTEAT 9F & iR Bt Rg wFT @ A
g WATUAT F39ANT & aR A FIT Tha T

A technological improvement in the production of one good will cause the Production
Possibility Frontier to shift in which direction?

fFd v avq & 3cUed # dRAIR GUR IcUe WHTeAdT a% I R fGar #
TYTATTRA FIIM?

If a natural disaster destroys a country’s resources, in which direction will its Production
Possibility Frontier shift?

i F§ uHfaF maer BFH dar F FEMEET F A5 FT <A §, @ IS FeureT
aHTeAd 9% fhE faar #F Tu=aRa g m

What economic term describes the cost of the next best alternative foregone when making a
choice?

ST A1 IS g P RAFeT F1 Iad 7T AR T 3T WaleAr fAweq
ARTd & gerfar &2

g FarelT F37 (Short answer questions (02 Marks)
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10.

11.

12.

13.

14.

15.

16.

Explain how the concept of opportunity cost applies when a government decides to increase
expenditure on public health.

99 HR FESaF LT W T 9o &1 AuiT oy § @Y 3/@w anrd 6
FEUROT F/ AY gl 32

How does the problem of ‘what to produce’ become crucial in an underdeveloped economy?
FAT 3c1Gal HU A FHEAT Pt HAFRAa srdegavyr & F3t Ageaqor & ard
Why is it important to decide ‘for whom to produce’ in a mixed economy?

fafa srdeaavar & Fad AT 3cuea U &1 vk e F4t smaeas

Can an economy operate beyond its Production Possibility Frontier? Justify your answer.

FT PE FAYTTYT AU IcUTEA FHTSTAT g (PPF) ¥ WX HIT FT Fehdl §2 Tt
3 & 3fAd sEusvl

Explain how technological advancement can shift the PPF.

dhah Yorfa e Y 3cUTeeT THTSdT ds (PPF) Y TATART T Thdl 82
How does scarcity lead to the problem of choice in an economy?

qAISTdT (Scarcity) H¥eqaTyT A fF YR TIT H FATT F o/ &t §?

Why is the problem of ‘how to produce’ significant in developing countries?

fasprarefier 2ot & HFq 3cuET FU A FHEEAT FT Ageaqor §?

How does the PPF illustrate the concept of economic efficiency?

UG WHTSAdT as (PPF) ey 3nfe g&Tar (Economic Efficiency) Y 37aen<om

F g2 §?

What happens to the PPF when a natural disaster occurs?

99 F$ WFHfaF 3TIeT ATt 8, A 3cIGT WHISHAT a% (PPF) 9 FIT TG ISl 87
Why does a PPC (Production Possibility Curve) slope downward?

39T WHTSAAT a (PPC) A Y 3R ol 4T SoraT &7

Give one real-life example where opportunity cost plays a major role in decision-making.

TF VAT qEdfaF SiaeT FT 30T AT S8l IHawT aerd Aot a7 Ageaqet
sfareT e

How do central problems of an economy differ in a capitalist and socialist economy?
GolardY X FATSEr srdfeaaEar # Fh FAEAW B TER e @
Why can an economy not produce unlimited goods and services?

F$ rdegasyr FMAT aFgU AR QAT FAY 3cqeT TE F FHAP

How does an increase in labor productivity affect the PPF?

HH 3cAIGHdT A G IcUlee WHTSAAT 9 (PPF) F1 F& gaTfad &d! 82
What does a concave PPC indicate about the nature of opportunity cost?

Hadd IcUIGA WHTSAAT I (PPC) I AW T YFfa & IR 7 F41 geifar 32
Why is trade-off necessary in an economy?

fFeY rdfeuaear # TT-3® aTF FAT AT B
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17.

18.

10.

11.

What impact does economic recession have on the production possibility curve?

IAF AN HT 3cUIGT FHTSIAT G (PPF) U F4T GHIG USdT 87

Discuss the impact of war on an economy’s production possibility curve.

ey 1 FH) IFrdeqaeyr & UG WHTEAAT a%F (PPF) W FAT WG ISl 2

g Farel T F97 (Short answer questions (03 Marks)

How does a country’s choice of capital-intensive or labor-intensive techniques affect
employment and income distribution?

forel Qer garT qEl-geTe AT HA-gUTT dHArPT F TIA FT ASEIR AR 3T fFeRor

W FAT YHTT 93T &7
Explain the impact of environmental degradation on the PPF of a country.
aoiy PRmae &1 Rt o & 3cargsr @HTeadT a% (PPF) WX 4T NG 93T 82

Discuss how government intervention can help solve the problem of ‘for whom to produce.’

‘FFrad AT IcUeT ST A TATAT T g FA A THRT gEA8T FH IFR TgF

g1 W §?

Evaluate the role of the private sector in solving the problem of ‘how to produce.’

FHE IeUTeeT F P FATAT B gA I A Aol &1 HY RS F AeAiERAT H
Analyze how an increase in labor migration affects the production possibility curve of a
country.

A gare H gefor #1 fhdl qr & Icuee WeTeAdr 9% (PPF) W FAT TG USAT 87
How does a country’s trade policy influence its production possibility frontier?

fFeY Zer Y AR AT 3TF IcUET THEIAT aF (PPF) FT HA wHIRAT FICAT &7

What impact does technological unemployment have on an economy’s production
possibilities?

dahaIhT AU &1 Y refeaaear Y 3o FHIGATHT 9T AT THTT 9341 &7
Critically analyze the role of opportunity cost in decision-making for large firms.

9 wAT & AT A F aw aera A qfAET F ArAEeRE vy #
How does an increase in foreign direct investment (FDI) shift the PPF of an economy?

yegeT fageft Ader (FDD) & gefer srdcaaeyr & 3curesT §HTEAAT a% (PPF) 1 4
TUATGRT It §2

How does inflation influence the ‘what to produce’ problem in an economy?

AR rdegasyr & F41 ScuTes FU H AT H FA gofad FICA §?

Explain the impact of a pandemic on an economy’s production and resource allocation.

AETHIY &1 R rdeaaeyr & 3curgsT 3 AT 3Tded 9T FIAT YHIG 9T &7
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12.

13.

14.

15.

16.

17.

18.

A farmer has a piece of land where he can either grow wheat or sugarcane. How will the
concept of opportunity cost help him decide what to produce?

vF R & 9 Uw W ¥ el a8 A1 A AT 30 WHAT § AT AN AW ARTH
$ FTUROT IFH U AT dF F A F& #AE FEN?

A clothing manufacturer has to decide whether to use high-tech automated machines or hire
more workers for production. Analyze the problem of ‘how to produce’ in this context.

e IR AT I8 Avha d91 & 5 98 3=9 daddie arell Taarfad At
FT 39ANT F A7 HAF AAF F Agea F 370 d@F F F4 309€T FO A
AT FT1 Qedvor FI|

During a petrol price hike, people start preferring electric vehicles over petrol cars. How does
this reflect the problem of ‘what to produce’ in an economy?

AT Y AT gt 9T AT AT FRI F T S argar w1 ARAwar &
a9 ¥l IF FYTTEAT H FAT 3G HL f GHEAT FT HQ gATET &7

A family with a fixed monthly income must decide whether to spend money on a luxury
vacation or save for their child's higher education. Explain how this situation relates to the

central problems of an economy?

v IRAR o A I3 ARTT 8,39 9% a9 @0 ¢ F gg A gt
W @G F AT HY god A7 3=a a7 F O q9q N 35 Fufa srdegaear Hr
S FaEgEt @ HN gEiT

A country facing a shortage of skilled workers has to decide whether to invest in automation or

in better education and training programs. Evaluate how this decision impacts its long-term
economic growth.

el aor & Fora AAFT 1 FA § AR 3@ T§ 9T TN ¢ F q@ T
(Automation) H AT ®Y AT Igax e 3 afNaror FREAFAT A 3w Aok @
drdfas nfis e w w1 yae w3am qeaiwa w1

If a country moves from producing more capital goods to consumer goods, what impact will it

have on future economic growth? Explain using the concept of Production Possibility Frontier
(PPF).

i F§ qur A Tolera awgat @ swilEar awgHt F U I TEar 7, @
zaw sfasy & fds gefr « Fa1 W IS SeuTeeT HHTSTAT aF (PPF)
TUROM HT 3YANT FId ASATSTI

Distinguish between positive and normative economics with a real-life example.

HHRIcHS AT 3R el T 7 3y TUSE FY, U aEdids siidaed &
3aTeor dfgdl

A STINT goT (Long answer questions (05Marks)
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1. Ueh IUHIFAT T ATFAIT HAET HT FEATT FEH HAAE & A ATl g, STelfeh
G H el 3UHIET HT YT FATSC-IART & HAdd el 8| A=l & 3Tl
fSeahion # &g AR Fard §U favawor Hifswl
The study of an individual consumer's demand falls under microeconomics, whereas the study of total

consumption in a country falls under macroeconomics. Analyze by explaining the key difference in the
approaches of both studies.

2. "gEH IAATET 3R FATRE-3rIAET & 3rel97-37e0T AWM g, dAfdhed F Tah-gay @ o
T & TR |" T HUT h FAET H

"Microeconomics and macroeconomics are two different branches, yet they are not
independent of each other." Evaluate this statement.

3.0Rd H ded! RISy @ F&fgd &F &y fGr 7w §:
FY9 1: "o 9T auf & RIS & 6% & dEH 8% @l 313 &l"
FYT 2: "R Bl U HH A & [T eAdH Holgll Tomil =gl
Ugel U I HPRIcHSD AT AR GEY I ek A/ & Icdeld FA7 @
ST &2 2l & T HTT AR TS HY AR 3UGFA 3eTelon & T faeeivor FX|

Two statements related to rising unemployment in India are given:
Statement 1: "The unemployment rate has increased from 6% to 8% in the last five years."

Statement 2: "The government should increase the minimum wage to reduce unemployment."
Explain why the first statement falls under positive economics and the second under normative
economics. Highlight the key differences between the two with suitable examples and analysis.

4. frd gaaARe e TAEar (S AGIS AT AT IFAIAN) H TIT B 3R
307 FHRIcAS Td e AT & TIOCHhIOT T &I YA 6|

Choose a contemporary economic issue (such as inflation or income inequality) and create two
statements from the perspectives of positive and normative economics.

5. forddT off Ser fr 3rdcgarar & "1, FH IR FTR T 3T e g0 T gHEEr

I FHAT AT AT ISl 82 ST HET HRUT HAAST|

Why does every economy face the problem of "What to produce, How to produce, and For
whom to produce?" Explain the fundamental reason.

6. GolardY 3R HATSAEY deaaean3it # FHeEl F e Fa eet gidr g2 Aedishe
H|

How does resource allocation differ in capitalist and socialist economies? Evaluate.

7.3 U B EMAIRET H TGS A F TOT Teh TICHT Y& A HT A0 o
g, ar 39 fAvir &1 3aWR drRTa F1r g1efe TOse Y|
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If a student decides to start a startup instead of pursuing an engineering degree, what will be
the opportunity cost of this decision? Explain.

8. TXHR o T&T doic H gefe el & 0T o HTEX ST &4 g1 Hebell §7 580 W
EEIETY
What could be the opportunity cost of the government's decision to increase the defense
budget? Discuss.

9. 1 IS IHYTTEAT U 3cUTeeT HETEEA! H Jef& dl g, al Scleed HeAedar ash H
FIAT IRAcT R ATH & T JHSST|

If an economy increases its production resources, what change will occur in the Production
Possibility Frontier (PPF)? Explain with a graph.

10. T 5S dehelieh & I @ IcUlcel HHTSAAT I5F I AT GHIT TSIM? SHFT Hodiched
|
How will technological advancement impact the Production Possibility Frontier? Evaluate.

11. Fedall FIFFT fF 31T T faoraefier ¢or T TWePR & 3MTAF TAGHR &1 3Th
g A gares § 3R 3Maer Tareeg 3R e & T 99d weT gl 59 Hu
I AT ARTT HR JrAfARdT Feerd & R | 9&dd H|

Imagine you are an economic advisor to a developing country's government. You have limited
resources and must choose between healthcare and education. Present your decision based on
opportunity cost and priority principles.

12. ¢ 1S ¢ fAANhd Jegent H Faer Forar 8, dr S8d 3culeed HHIEIAT dh H
gHTIAd gl

If a country increases investment in specialized industries, how will it impact the Production
Possibility Frontier?

13. T &R AT Solfdes gl & 3cdieed H AdT FAT ARAT § ofdhed 38 IRIRH
dTgall T 3cUTea el ST 19| Ig AT 3culesT GHIdr d% & e H iy

HST ST GohdT &2

A car manufacturer wants to invest in producing electric vehicles (EVs) but must reduce the
production of traditional vehicles. How can this decision be understood in terms of the
Production Possibility Frontier?

14. I T8 rdegaedr & AT ST G 39T A& g1 T &, Al I 3cdlee] HHTA
g W $Y @R I Ghar &2 IrEAr |

If an economy is not utilizing its resources fully, how can this be shown on the Production
Possibility Frontier? Explain.
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15. Fa1 3N AT & SR IcUeT THTAT g% g2 [FEaRa gxar &2 [_fdea
gRFEAfaat & 3T gedg & GHSSU|

Does the Production Possibility Frontier always expand during economic growth? Explain its
variations under different conditions.

16. Tsh Shelehcl Trofell Fegaedr AR FqFd ToR Idegaedr # S i aaeani
HI gol el o ALl T Jolell H|

Compare how a centrally planned economy and a market economy solve central economic
problems.

18. TXHN GaRT iU gl & "1, H8 3N fohdeh faU 3cUiesd e g & Aokl 9
FIT JATT 9391

How will the removal of government subsidies affect the decisions of "What, How, and For
Whom to produce?"

19. 71 WfAT FETUAT T 3Treudr w1 FAMETA garT f¥w gardr Aifdera Aok
J F INTETT 8 GohdT g7 STEdT |

Can the availability of limited resources contribute to more effective policy decisions by
economists? Explain.

20. FRET THR & AT "Faeey” R "o " A G Al Ueh Faildl g1 30
ot wfgear & e gfeewior @ gHsST|

Balancing "healthcare" and "military expenditure" is a challenge for any government. Explain
this decision-making process from an economic perspective.

21. Explain the role of opportunity cost in the decision-making process of firms.
Bt & favtr o i uftear & 3@ @mera (Opportunity Cost) #Y {fwT Fr Fose
Eayl

22. Evaluate how a rise in technology in the automobile sector can solve the central problems of an
economy.

AT gt &7 # WA #F qefr srdegarar it Fa FHEART F FH gA =
TFHA! 32 Aediwa AT

23. Analyze how an economic crisis affects ‘what to produce’ and ‘for whom to produce’
decisions.

frdlY 3nfde Te F1 ‘FAT 3 FU AR FEe QT 3T FU F AvRAY w
F4T YHTT 93aT &2 feeyor fifsw)

24. A city has limited land available, and the government must decide whether to build a
shopping mall or a public hospital. Use the concept of opportunity cost and PPF to analyze the
situation.
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U MY A WAT oy 39y ¢, AR WER F a7 Far ¢ F ggl v A At
TATIT AT IT TF WSl fad FEqdrer| 59 Rufa &1 fFeevor s@aw ang ik

39T WHTSAdT as (PPF) Y Wgar ¥ 3|
25.

Case Study based questions

Case Study 1:

Ramesh runs a small garment shop in his town. He observes that when he reduces the price of
shirts, more customers visit his shop, and his sales increase. At the same time, the government
announces a new policy to promote the textile industry, which impacts the overall demand and
supply of garments across the country.

A T 30 AT A TH OIS W FUS A GHG g1 98 oWl § 6 o9 d§ AT A
FAT HH T B, A HUF AEH 3HR gFA W A § IR 3HR A 95 e
ST A, TR aET 36N FI 9617 ool & olT U o5 Alfd HrI GINoT Rl &, T
TR T A FEIHT A AT 3N 3T genfad gl B

Microeconomics focuses on individual businesses like Ramesh’s shop, while macroeconomics
looks at broader economic policies and their impact on the entire industry.

ATSHITANET TH T gehlel SHT SGTFIT AT W hiod Biell ¢, Siafeh FATE
HIATET s 3 At 3R 37 FYOT 3NN T THIT T 3ETAT ALl &l

Questions | g1
1. What is the main difference between microeconomics and macroeconomics?
ATSHINGRTET 3R FATSE AT & & T 3R FA1 82 (1 Mark)
2. Under which branch of economics would Ramesh’s shop be studied, and why?
AL T gehleT T eI AT T fohey amar & 3icqeTed 3meam 3R =i (1

Mark)
3. At what level will the government's policy be studied—Microeconomics or
Macroeconomics?

WeR F Afd FT FT TR W 37T fFAr FTTmT—ASHIARMET AT AT
37FAFT? (1 Mark)
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4. Are microeconomics and macroeconomics interconnected? Explain with an example.
T ATSSHIITANEA AR FATE AT Uh-g@k @ 53 7 a1 Gl FHSSU|
(2 Marks)

Case Study 2:
An economist states, “The unemployment rate has increased to 6%.” On the other hand, a politician
says, “The government should take more measures to reduce the unemployment rate to 3%.”

T HAAEN FET g, "SISHIR & 6% & T B1" qH{ 3N, T Taleifda Fadl g,
"ERHR DI SRISHRT &X Pl 3% dsh ol o folv 386 g el arfigel”

The first statement presents a fact, while the second expresses an opinion.
TECl YA Teh 2T Y& Al ¢, STaieh AU Teh AT e el gl
Questions | 91
1. Which of the above statements is an example of positive economics?
3RIFd FYAT H T PIA-AT FUA hRIcHSD JA/ET HTI 3G18I0T 82 (1 Mark)

2. “The government should reduce the unemployment rate”—Is this a statement of positive or
normative economics?

"EIHIT P SUSHTRT T HH el AT —FT Ig GhRIcHS AT e 372emeT
HT HUT g2 (1 Mark)

3. What is the difference between positive and normative economics?
TRRIcHS 3R e FAeT H &1 3 g2 (1 Mark)

4. Are all economic policies based on positive or normative economics? Explain with an
example.

Far ot nfde AfaaT TeRIcAS 1 3T IMMET F MYR W TS ST 82
3CTEUT S TISE Y| (2 Marks)

Case Study 3:

India and the USA are both large countries, but their economies are different. India is a developing
economy where agriculture and the service sector contribute significantly, whereas the USA is a
developed economy with major contributions from industries and high technology.

ART 3R AR Qt & 92 2 § Afhad 3ART HIITEAT 3el{T-37e9T ThR T
AR Toh Tashaelier degaedr § Od ¥ AR Far &7 &1 991 Qe g, Sidih
AR Toh Al rdegaedr §, S8l 3T AR 3T4 dehelieh T YHG T gl
Questions | 97
1. What is an economy?
3degaear 41 82 (1 Mark)

2. What is the main difference between the economies of India and the USA?

HRA 3R AR HT Irfegaeaisit # F&T IR F47 g2 (1 Mark)
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3. Why is India called a developing economy?
RA & T faeraeiier rdcaasar #af &gr SATar §? (1 Mark)

4. Are there any indicators to measure the development of an economy? Explain with
examples.

FT IeTAEYT & I HT AU & FT AUCS Bd 7 3G Flgd HASSV|
(2 Marks)

Case Study 4:

Central Problems of an Economy

A country has limited resources, which are used for the production of various goods and services.
The government has to decide what goods and services should be produced, what production
techniques should be used, and who will get the produced goods.

fonell Sor & AT Games g 8, Toietenr 3udier fafdiest aeq3it 3R Qansit & 3cdies &
forT foham Sar 81 TR @l g 0T o= giar § {6 @la-dl aequ 3R dae sifes
AET # 3curied $1 ST, 3clest & fov Hi-8 Teheileh IS AU 3R Seuried a&qu

foheg 3TeTsY FS ST
Questions | 97
1. What are the central problems of an economy?
forelT 3rdcaear T FET THEAV FT gl 82 (1 Mark)
2. Why does the government need to decide “What to produce”?
IWHR B "FIT 3cure fohar S ot #af ofT 9sar 82 (1 Mark)
3. What is meant by the problem of “For whom to produce”?
"foheToh foIT 3cureaT foham ST &HEAT &1 &1 31 g2 (1 Mark)

4. What challenges arise in production due to limited resources? Explain.

AT AT F FROT 3cleaT H FIT Fehd 3TdT &2 SrEdT Y| (2 Marks)

Case Study 5:

Production Possibility Frontier and Opportunity Cost (Data-Based)
The following table represents a country’s Production Possibility Frontier (PPF) showing two
goods—wheat and motorcycles.

fFAfaf@a aifernr T 3 T 3culesl HHTEAT ash (PPF) T gaifeh &, fores & a&qu—
g AR Aerargfher—nfAer gl

| Option H Wheat (Tons) H Motorcycles (Units) |
A o 100 |
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| Option H Wheat (Tons) H Motorcycles (Units) |
E 1o S |
c 20 IE |
b 2 a0 |
E a0 o |

This table shows that if more wheat is produced, fewer motorcycles can be produced, and vice
versa.

Fg e JE Sl & & I it A1g &1 ScuresT R Se ar #examsiaha @
3cUIed A g, AR g8% faudd|
Questions | 97
1. Explain the concept of the Production Possibility Frontier (PPF) based on the above table.
3RNFA difeldl H 3cdIGe] THTGAT dsh (PPF) ST IGUROT & TS HLl (1 Mark)

2. If the economy moves from point A to point C, which good incurs a higher opportunity
cost?

Ife 3rdfegaear g A ¥ g C W TUEERA gidl &, o fohd aeq &1 e

AT Sl 872 (1 Mark)
3. What is opportunity cost?
TR AP R shga §2 (1 Mark)
4. Is the Production Possibility Frontier (PPF) always a straight line? Explain with an example.

FIT 3c9TcaT THTAAT ash (PPF) §H2T T Tl 3@ 8T g2 3&1eX0T dfed
HHSIST| (2 Marks)
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